Year 2 – Addition and Subtraction Word Problems  (23/24.5.2020)
If you want more questions and want to challenge yourself, here are some questions. You do not need to hand them in on google classroom. 
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There are 76 cars in the car park.

18 more cars go into the car park.

Then 35 cars go out.

How many cars are in the car park now?

Show
your
working
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Sam is collecting cards.
He wants to collect 100 cards altogether.
Last week he collected 50 cards.

This week he collects 30 cards.

How many more cards does he need?
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There are 60 sweets in a bag.
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20 sweets are red.
16 sweets are yellow.
The rest are green.

How many sweets are green?
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On my 3rd birthday,
Iwas 95¢m tall.

Now I am 28cm taller.

How tall is Sita now?
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Anya has £2

She buys 2 drinks costing 35p each.
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How much money does she have left?

Show how you work it out in the box.




image10.png
Write the correct sign in each box.

58 26 84

43 17 = 26

33 33 =0
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(a) Janet spent 23p.

Put a circle around the 2 items she bought.

crisps 16p

orange 18p

cake 9p

biscuit 7p

(b)  She used 3 coins to pay the 23p.

Put a circle around each coin she used.
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This is how much ice lollies cost.

Choco 45p ﬁ
Magna 60p (§§2
Alien 55p @
Nutty 35p

Which 2 lollies can you buy for exactly £1?
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Sam has four number cards.

Use three of his cards to make these correct.
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There are 100g of chocolate chips in the bag.

Sita uses 25g.

Ben uses 35g.

How many grams of chocolate chips are left in the bag?

Show
your
working
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Ben has 90p.

He buys 2 tickets.

Each ticket costs 35p.

How much money does Ben have left?

Show
your
working
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There are 55 cakes.

20 boys and 19 girls each take a cake.

How many cakes are left?

Show
your
working





